
Homework 8 Math-1400-es31 2013 April 29

3.1.29 If this works,
lim
x→1

√
5x + 4 =

È
5(1) + 4 = 3.

It works!

3.1.53.A If this works,

lim
x→−2

x2 − x− 6
x + 2

=
(−2)2 − (−2)− 6

(−2) + 2
=

0
0
.

It doesn t work!
Since I got 0 on both sides of a fraction, I ll try to factor out x− (−2) = x + 2 from both sides �rst.

So if this works,

lim
x→−2

x2 − x− 6
x + 2

= lim
x→−2

(x + 2)(x− 3)
x + 2

= lim
x→−2

(x− 3) = (−2)− 3 = −5.

Now it works!

3.2.11.C If this works,
lim
x→4

2x− 4
(x− 4)2

=
2(4)− 4�
(4) − 4

�
2

=
4
0
.

This doesn t quite work, but I may be able to get some kind of in�nite limit.
As we approach the limit, x ≈ 4 but x 6= 4:

x 6= 4;
x− 4 6= 0;

(x− 4)2 > 0.

Therefore,
lim
x→4

2x− 4
(x− 4)2

=
4
0+

= ∞.
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